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class IntCell

public class IntCell {

private int cont;
private IntCell next;

public IntCell (int cont, IntCell next) {
this.cont = cont;
this.next = next;

public int cont() ({
return cont;

}

cont: 1 cont: 2 cont: 3

next——r— | next——— | next—r— null
IntCell IntCell IntCell




class IntCell

public IntCell next() {
return next;

}

public void setNext (IntCell next) ({
this.next = next;

}

- - . . NX7170 7w TYN nInwn
pUbllC VOld PrlntLlSt() { Intcell o19'Un XIn

System.out.print("List: ") ;

for (IntCell y = this; y != null; y = y.next())
System.out.print(y.cont() + " ");

System.out.println() ;
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NIF'TA YIXTA7 np'7nn

public class Test {

public static void main(String[] args) {

IntCell x = null;

IntCell y = new IntCell (5,x);
y.printList () ;

IntCell z = new IntCell(3,y):
z.printList () ;

z .setNext (new IntCell(2,y))
z.printList () ;

y.printList () ;
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Cell <T>

public class Cell <T> {
private T cont;

private Cell <T> next;

public Cell (T cont, Cell <T> next) {

this.cont = cont;

this.next = next;
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Cell <T>

public T cont() {
return cont;

)

public Cell <T> next() {
return next;

)

public void setNext(Cell <T> next) {
this.next = next;

)
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Cell <T>

public void printList() {
System.out.print(''List: ');
for (Cell <T> y = this; y != null; y = y.next())
System.out.print(y.cont() + " ");
System.out.println();

13



?2077nN2 NINYA An

T o019'0N NINWN o011 NP7NNN NINIDY

N1'X IT 07IX NNXK N71TA NIX DN 019'0 MNYN NINYY I71I|7)‘_] |
MIYNYN DY 019'0N NINYNY7 NI'1|7'7 [N, N AN nYAT

Cell <T> XInOYTAINW 0I19'0ON

ATNIN O19'0 721 ,"2AT NINYNA ,N0N19 ,NTY 7D 7w 019'_VN
T2aq%nrr int n'nvw nnw 7w

ATNIN O19'0 721 ,"2IAT NINYN ,N0N19 ,NTY 7D 7w 019'_VN
Cell<T>aq7nI IntCell n'nw nnw v

14



'M1A OI9'Va YiIn'v

NINWN 7V N1N¥NA L7907 W' M2 019'0] WNNWNT? '
O19'0 NINYN 7D 1Y 'O 019'0 ,(F)'X127 XAl
17Y

Cell <String> XNAIT? =

NITAN 019'0 NINWN LI7 ARMPI NNY NNTANT7 N'AI7aNA

XIN '02170 019'0NI L7119 TVNID 'VN DIINN NP7NNN
MIRIVPR VN9 |'Vn

X127 NN N2A0 10NI9N NNTANN YINA7 TWOXRY N1 0N qwnna (*)

15



'M1A OI9'Va YiIn'v

172 ,NM9N O19'0 NI'NT 2N '0I;7AN 019'VN
'2'0'M"M9 NI'NT 71D 12'R

190N XIN DDINY D'RN 7wn7 21X 0'Y¥IN 0OX
Cell <int>2md7 N1 X7 ,0%Y

D'OUIY D'0I9'VY PPTT NT )IN?
(wrapper type)

16



(wrappers) n'suiy n'oiI9'v

'D'XNN 1190 019'V NIIK'AQ 0"y '2'0'"M"MS 0I19'0 707

quiIvn double -7, Float quivn float -7 =
'D1 Double

7 D'NNNN int (NMYN NN20IN N1'NAN) [DI1T 'KXI' =
Character -7 D'NNnn char -1, Integer

(immutable) no'walym o'901vn 0'oI19'vN 75
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(122 019'V2 WIN'YAL 0DV 7Y D'90IN NN

[] The image
part with
relationship
ID rid3 was

not found in
the file
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Boxing and Unboxing

:D'RNNN 'R127 nRp MY (boxing) 17w quIvN 019'07 '"2'0'MMI9 019'V DANYT N1

char pc = 'c¢';
Character rc = new Character (pc) ;

wim'y "y (unboxing) n'xNNN 2'0'NMI9N 01907 qUIV 019'0 DANYT N1
NM'RNNN xxxValue nimnna
Float rf new Float(3.0);
float pf = rf.floatValue();

J17¢ QUIYN 019'07 "2'V'NMMS 0I19'V |2 'VNIVIN 1AYN NIYONN NIIX'A

Integer i = 0;// autoboxing

int n = 1i; // autounboxing
if (n==1i) // true

it+; // i== Xl e
System.out.println(i+n); // 1 part

with
relation
shi ID
rid

was not

found
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NP?7NN7 NAI7IR K'Y |, Cell <T> 1 NUnnwnwy np7nn Nk
: IntCell 2 NUNNVYNY

public class TestGen ({

public static void main(String[] args) {
Cell <Integer> x = null;
Cell <Integer> y = new Cell<Integer>(5,x);
y.printList() ;
Cell<Integer> z = new Cell<Integer>(3,y);
z.printList () ;
z .setNext (new Cell <Integer>(2,y));
z.printList () ;
y.printList() ;
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?]TWJIPYJ NN'YI ax'"N NNKR1 Cell<T> DXN
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NN XIn —nNn'v1 11'X Cell
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NN'YI Nax'Mn MyList<T> np'mnn NN A'X]
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MyList<T> -7 |[IUNI QN7

public class MyList <I> { List 71 MyList nx1j71 np7nnn

private Cell <T> head; PJIﬂTlWl?JD]N?W'TD
n'"Mo0nn java.util.List
public MyList (Cell <T> head) { Java v n'uamoon

//code here
}

public Cell<T> getHead() {
//code here MyList

}
head

public void printList() {

A 4
\ 4

//code here
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MyList<T> -7 |[IUNI QN7

public class MyList <I> { List X7 MyList nx1j np7nnn
private Cell <T> head; '3 1112 7272M K7W T
n'"Mo0nn java.util.List

public MyList (Cell <T> head) ({ Java 7w n'vhmuoon

this.head = head;
}

public Cell<T> getHead() {
return head;

}

public void printList() ({
System.out.print ("List: ");

for (Cell <T> y = head; y !'= null; y = y.next())
System.out.print(y.cont() + " ");

System.out.println() ;
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vin'nn NNon

NIZ'70N ANoINI N7W M190 AIX''AN 770 NIN7 WMy nn'van vin'n

NP7NNN DX D2 107 0'DY MyList np'7nnn NiNpY? yximn winma
Cell

Cell<Integer> x = null;
Cell<Integer> y = new Cell<Integer>(5,x);
Cell<Integer> z = new Cell<Integer>(3,y):

MyList<Integer> 1 = new MyList<Integer>(z) ;
l.printList() ;

MYILM NN'YY NoYdN] Yaid 12N

NN'YI7 wimmn NX 9'7nn? MyCell 790 N¥Y' T'Ny1 OX ,7Un? =
N D-IT
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Y 2N - MyList<T>

public class MyList<T> {

private Cell <T> head;
private Cell <T> curr;

public MyList (T... elements) {

//code here

}

public boolean atEnd() {
//code here

}

/** @pre 'atEnd() */
public void advance() {
//code here

}

MyList

head

curr

\ 4

A\ 4
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Y 2N - MyList<T>

public class MyList<T> {

private Cell <T> head;
private Cell <T> curr;

public MyList (T... elements) {

//code here
MyList

} head curr

public boolean atEnd() {

\ 4

return curr == null;

A\ 4

}

/** @pre 'atEnd() */
public void advance() {
curr = curr.next();

}
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Y 2N - MyList<T>

public class MyList<T> {

private Cell <T> head;
private Cell <T> curr;

public MyList (T... elements) {
this.head = null;
for (int i = elements.length-1; i >= 0; i--) {

\head =\new Cell<T> (elements[i], head)j

) ™

curr = head; null null null
! 1 1 1
head | elements[| elements[n-1]
f f
head | elements[n-2]
f

head 26



WUNn - MyList<T>

/** @pre 'atEnd() */
public T cont() ({
return curr.cont();

}

/** @pre 'atEnd() */

public void addNext (T elem) {
|Cell<T> temp = new Cell<T>(elem, curr.next()); |

'NDIIN XNN NN TN 1'K NNWN
XN 7w PN NX X7x (Cell o19'0)
(T) 'nonin

curr.setNext (temp)

- Y jol

\ 4

\ 4

N

curr

elem

«— tmp
27




WUNn - MyList<T>

public void printList() ({
System.out.print("List: ") ;
for (Cell <T> y = head; y !'= null; y = y.next())
System.out.print(y.cont() + " ");
System.out.println() ;

NNYN N7U90 NKXIN NX 0'OT!
y.cont() 7v T o19'vn 7w toString
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MyList<T>

VN NN 017 yTim 'R (MyList) nn'wan NIp7 nyd
Cell<T>

MyList<Integer> 1l = new MyList<Integer>(3,5);
l.printList() ;

1.advance() ;

1.addNext (4) ;

l.printList();




MyList<T>

q'onn NNY — addHere (int x) NNWN NX wnn '

3

»
>

T

/

head

54—

6 .NN'YN1 'NDIIN DI|7YJ'7 X 1A' NN

curr

NYIXYNN NX NNDW? 0'D"MY 1IN addNext () nnwnn mivwa
NIY'A NND V1717 [N D OWY? .curr XNY

curr 7Y 00N prev 7Y NyITNN 'N Ny =

'"MNDIIN 1197 TNX DN TV NN'Yn n7'nnNn YN =t/

(

curr 7 XN 70 W next () nxnwn "y)

D'NNN 'DN NO7NN A nwna =

3 5 |
I ™
head curr

| 6
/4
3 addNext niyxnxa
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(D'WIx ,NPITAN) NI'LIATX NIND X NV NI NIVIYO 1 -1 'K NIW*A

/** @pre 'atEnd() */ 2 NI NXK wnn? non
public void addHere (T elem) {
addNext (curr.cont) ; cont NnTwN ln'wa
curr.cont = elem; bYJ 1D9 ATV NIN
} w1 X7 P71 ,Cell

MyList 7

?NN72IN X'N cont NTYN 7Y NIXKNL 7W NI'0I9N NWAT AT NN7n2 "IN
NPTXIN NI'X NTY 7¢ NI D770 =

W' D71 MyList<T> 7w 2TV Nz'7nn X'n Cell<T> np7nnin ,07INI =
7¥ D"0Y9N N'NITYW? MyList<T> -7 NiaNN nwaa NIKWAN [NNY npTen
Cell<T>

wUIN'yn 1IR? D mi? n'n N1 setCont () nTinnn Cell 7 nn'n 17 Da
NY N7 YWONT7 NI "7Irwn 0D N LRNDN MINYA DN'YIN NYIVY Q0NN

NT NTYY? nwe
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Java 2 0'"'ua'x n'on:

- N7'2N NIXNA UNNWNT? AWK n7'an NnNINA MyList 1 Cell DX

7w N7XRN D'0NI97 NWAT7 X' DA 721N N7'aNa DN NR7Nn 7D TR AN
Cell

1 1 1
NIZ7NNN NNX NNTan 'y Java 2 Nip7nn "2 NIfmroaR 1 Tan? |na
NINXRN NZ7NNN 7 M9 ag'71nnd

NINON AIRYA "2 XU2NN Java nowa m'ann nian [N NI'M'1S J']I|7'7I'1YJ
n'n'ul'NX

NN DNIANT 7V NN

INW?7D 019'UN DXV NI .AP'7NNN NNNA X' Java 2 NI NAT =
019'0UN INIXN INKX DXV 7¥ D"0ON NITY? DA NWAT 71D

(Java 2 no"p X7) DXYN NN NIXKN) 7Y DA 2AIWN? ' [N =
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(N1MI7N) NI'"s Nip7Nn

Inner (Nested) Classes
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Inner Classes

DINN] NMTAINY NP7NN XK' NN Np7nn
NnINX np'7Nn 7w (0*70%710n0 "2 — Scope)

public class House ({

private String address;

public class Room {
private double width;
private double height;

NNDAIT

117 win'v

79 NTY N1’k Room
House ni7nnn
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Inner Classes

DINN] NMTAINY NP7NN XK' NN Np7nn
NnINX np'7Nn 7w (0*70%710n0 "2 — Scope)

public class House ({

private String address;

NNDAIT

private Room[] rooms;

public class Room {
private double width;
private double height;

117 win'v

79 NTY N1’k Room
House ni7nnn

N ATYUAN'? D'YN DX e
Y1910 NXT NIYWYYT v
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NIi'M"9 Niz7Nn

NPZ7NNN1ENNMNI9N AR7NNN |2 oNA 7V NTAN NM9d N7nn NNTan
:NOLIYN

NIIX'NN NP7NNN 7Y WWPENa 71 NIvAwn W' NMaon npnn? =
NIIX'NN AP7NNN DY N'N'0I'R NNDN Y N'MA90 ngNn7 - =
NIIX'NN AP7NNN W ATV NP7Nn X'N NN Apnnn =

NINNAIT

Iterator -ICollection =

Brain-IBody =

Cell -1 List 'O D'YTAINN 0IN] '1AN =
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NI'M"9 NiZ7NN 'alo

J'IYn N'9N NP7Nnnn 019'un DXy 7w yom 7> Java 2
NOVIVN NP7NNN 0I19'VN DXV7?

nn7wN
(7127102 0'019) 'K TRIM YANN =

N'ONIVIX WXIMY NMI9N NTY W' N'NAI9N NP7NNN 0I19'vN DXV? =
NOVIVN NP7NNNN DXY7?

17'9X) D'NNYYI NITY7 NWA N'MI9N Np7NN7 W )oNn NRXIND =
192'a%1 novn nnNnn 7w (Inmo1e
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NI'M"9 NiZ7NN 'alo

public class House ({

private String address;

public class Room {
private double width;

private double height; O

o
public String toString() { °

return “Room ” + address;

}

Java nowa 1 n1In 38
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NI'VLO NI'M1IS NIP7NN

N'NY ["¥7 P01l static D N'N9 N7 Nn ' Tan? N1
NOVIVN NP7NNN W 0'IoN Y917 NnIvp N1'R

static > NTAIN 'NNY DY NR7NNn? A17ak QTN =
NN'IoN NZ7NN NIV NS00 NYNYnN XAl

friendon'nmn"vaiawvmaron' C++ nova =

39



NI'VLO NI'M1IS NIP7NN

public class House ({

private String address;

public| static|class Room ({

private double width;

private double height;

public String toString() {
¥| return “Room ” + address;

}

Java nowa 1 n1dIN
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NP7NN NNIX 7¢ N1ONN DINN DX 7'221 QTN
. T272 NTINNN NNIX DINNY

D'INYN] UNNYN7? 7210 N'950 nz7nnn
,£inal > NTAIN DN OX ) NTINNAN 7Y DN

"DannNn"y ponwn? opanwa? M Javad8nnn =
D'227n ,I7D , £inal > NTANY DINWN 10D
effectively) on'"n NIX7?_12%2 NnNX DYo n(]pwnl

(fina
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NITnNN 1mMa Nif'as :n||7'7nn

public class Test {
public void test(int num) {
final int x = num+3; N71>' toString DXN
int y = num*2; ?num 7 DA NWAY
int z= num-1;
class Infof{
public String toString() {
return "**" 4+ x 4+ "**" 4 y 4 "k*" 4 7, I

}

}
z = 4;

System.out.println (new Info());,

INK? TIR? ' an
21T NIV NDOoIN

}

public static void main(String[] args) ({
Test t = new Test();
t.test(5);

Java nowa 1 n1In 42
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NIP?NN ' TAN7 [N NIM1S Niz7nn NIyl
.0W X77 NIP7NNn — NI'NR

NIN1IN NIDYNL TIRA NI'YIM'Y NI'IIAX NIR7NN
011N Ywnna m71 (GUI md) o'winx

Java nowa 1 n1dIN
2'aX 7N NV'0NA1IX
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NI'M"9 NIZ7NN 7Y ITN

7> 112y .class yalp Xt (Y771 onip) YTNnn
NT |2IN2 MIY N1'X N'M1I9 np7nn .np'nn
N7 NR7NNnn

.Outer$Inner.class N'N"I9N Np7NNN DV

ANI'Y NRP7NNN OY ,N'MNIRR N9 NR?Nnn 0N
.Outer$l.class N'N' 172NN

Java nowa 1 n1dIN
2'aX 7N NV'0NA1IX
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Cell IMyList 7 NN

AWONT D1 ,"11190 AIX'N NN NN'YIN W NIR?an 'Nont '
N?7NNd Cell NX 2IMd1 Cell 7w 0"'0YSN NITY? nwn
MyList 7ID2 N'019 ,N1in

?NX7 IN N'OVLO N9 NP7NN DXRN
N'VLVO NI'N Cell .NNX NNYOX =®

,NN'I0N NN'wI7 I MyList DxV7 )'Iwn Cell ai0n DXy 7D X
V'O XIn N2 NN'YIN DX 1DNY DXY7 ©YwoONnl

?7NN NN'wI7 11aY XN DX WY1 Nn 7ax

,2ONK NN'WA7 010 NIrR'% 7100 (pimn) 1axn "Mwox ‘M7 nt nwyn?
Cell 0I9'0n DXYN X7 72X

N'VLVO Cell :N"IW NINWON =
?N1"M1a0 N1'Nan NR7YNAN NN
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NN NP7NN DY Nn'vN

N7 N'n MyList ]IN2 N'0VO0 X7 NNipn np7nn Cell oXN
yap1 Cell n 7w DINN 019'0 .N'M1AD NITAM NIFN7 NA'N
.D'NNNN MyList 0 DXY 7¢ 'IXI0PXN 20N19N 'O 7Y

DI¥IIY 0MAND 701 ,NMAN 210 NX nyaly nn'vnn i
210 ININ7 O'ONIY NN'ION NN'Y 111y

TIPN DX 2INDY7 77 NI DXy

N'0IS NN NP7 7Y D'NNYAT NITYN NIRD DY
71 NOLIVN NP7NN7 DWIT NN 701) N'MIvNwn N1'N
(N7
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public class MyList<T> {

private class Cell {
private T cont;
private Cell next;

public T cont() { return cont; }
public Cell next() { return next;}

//
}

private Cell head;
private Cell curr;

public MyList(...) { ... }

public boolean atEnd() { return curr == null;

/** @pre 'atEnd() */
public void advance() { curr = curr.next();

//

}

}
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N'VVO NNIZN NP7NN DY NN'YN

1Y ,NONX D ,NMN2 N7 n2arn X0 ntvvo Cell ox
private T cont;
NNRAY NYTIN 737
Cannot make a static reference to the non-static type T

o19'vw MyList 019'0n Dxy7 non'nn X7 X'n ,N'VLVO Cell DX »
Y71 X7 naw MyList <T> ap7nn7 X7 ,IN0'¥12 YAl 17w 1aRn
T 7 '00 1 019'0

NN IN T ?70%¢ M2an on1o5n nn LD DX

D'INWN 1Y 7R NN 702 1anT7 X 72K NIRIN [N DIFNYOKRN MY
72720 nirn? 1%y win'wnl ,nniv
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public class MyList<T> {

private static class Cell<S> {
private S cont;
private Cell<S> next;

public Cell (S cont, Cell<S> next) ({
this.cont = cont;

this.next = next;

public S cont() { return cont; }
public Cell<S> next() { return next;}

//

private Cell<T> head;
private Cell<T> curr;

public MyList(/* ... */) { ... }

public boolean atEnd() { return curr == null;

//

}
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printList () I'T

public void printList() ({
System.out.print("List: ") ;
for (Cell <T> y = head; y '= null; y = y.next())
System.out.print(y.cont() + " ");
System.out.println() ;

VN2 NNY XN printList()

NT7" ANY7 W'y n07NN DI —oN7 MIS NNYN :na'ya =

DI7N7 YT DX 0'9TN7 NI*MIYN NNIR7N IR "oy
NN

NMAN NIXRA'TN' NTNNY - toStringl vwiN'y [JNN9 =
N1IXD NTINNNA NYYN nnlp'ml NN NMN'vyan

,0'NIN ,NNNID) NO9TN VNS NX ATODN NNYA ;'Y =
712 X7 DNIR7N AT VNI9T7 NIPT7N NX 772an1 (NIYTN NNIY

NP7NNN NX 1ON X7 17'9X XIN DY NNXYY] 0T VTN 9I0K7?
Cell
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printList () JI'T

1TNN? VTI'Y Inwn Nt MyList np7nn%w ooy nnax
NI7RY "My 7V DaIwn

?Nan A'NN 1nNn L1

?0D'9011 DMK NN OXN .2

public interface Iterator<E>{
E next (),

boolean hasNext() ; |public interface Iterable<E>{
} Iterator<E> iterator()

public class MyList<E> implements Iterable<E>{

public Iterator<E> iterator() {// implementation }

Java nowa 1 n1dIn 51
2'aN 7N NV'0MNIN



D"1IN1 QOIN NODTN7? '770 DNMIATN

INW? collection DIINI N1AN] DNINMWN DNA'XN NX 0'9T)
for (Iterator iter = collection.iterator()
© iter.hasNext( ); ) {

System.out.println(iter.next()); °

} © O
O
O O

O
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D"1IN1 QOIN NODTN7? '770 DNMIATN

INYW?7 collection DIN] NIAN] DNINWN DNA'RN NN 0'OT)
for (Iterator iter = collection.iterator () ;

iter.hasNext( ); ) {
System.out.println(iter.next()) ;

N77NNN DXY) 17'N 010K NP7 7907 'RONK INXY DININ N1AN
D1ININ NN N7'NN7 7NNIKNN (Iterator pwnn NX NUNNNY

NX 71N107 NNWONN NX N'NINIF77 790N MyList N7NNnY nX¥1l DX
Iterator N7 2IMD7 N7V ,NAn'wNa DMARN D
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17N MylListIterator

class MylistIterator<S> implements Iterator<S> {

private Cell<S> curr;

public MyListIterator (Cell<S> cell) {
this.curr = cell;

}

public boolean hasNext () ({
return curr '= null; MyList

}

head curr

public S next() ({

S result = curr.getCont();
curr = curr.getNext() ,

\ 4
\ 4

return result; ¥

curr

MyListlterator




N'NINIPZ?7 M0IV'X NP90N MyList<T>

public class MyList<T> implements Iterable<T> {
//...
public Iterator<T> iterator () ({
return new MyListIterator<T> (head) ;

}
}

NX NIyNnNn DXVl iterator () NTINNN NX NIYNANN NIP7NN =
TA72 1T nTINn 7onn Iterable<T> pwinn

721 D 7Y .ptn MyListIterator -IMyList |2 TIn'¥n =
V19 KIN 1'7VY QOIXN 7W N'M19 7NN 110T0'RN DX wnNn?

INN NYT? '72 NN'wAN MaX 7D 725 NI7vo yxa? 720' N nyd =
N7Y M50 N1anNn
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printSquares

public void printSquares( Iterable<Integer> ds )
{

for (Iterator<Integer> iter = ds .iterator();

iter.hasNext();) { S
int i = iter.next();% L

System.out.println(i*i);

} What is the output for:

System.out.println(iter.next () *iter.next()) ;

(NIN7'RY? NITIPD "2 nT9N 7V 27 Nnw)

NN'YI DN ITY DTV WNNYNT? 72 NN'YIN M2X 'WIAN NIR 0'9TN NIRN

7YINN DY 9701 Nifn7 710" MyList<Integer> LINIAXN 019'0
NN 019'0 7W MW NX 17'9X VT X7 NIpP7n T8I, Iterable<Integer>
DININ
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for/in (foreach)

ND INW7D 021N qOIX MAK 70 7V n71Y9 nNnIX NX nyxanw for nx717
(for/in) TNIm 'anna noW7 nNix 19'01n Java 5.0 aw Ty ,nnHwY

NAN TIR? 717w DTN Qrenn TN

public void printSquares (MyList<Integer> list) ({
for (int 1 : list)
System.out.println(i*i);

)2 NINT RNj77 W
"...1ist DININ QOIXAY int 019'UN i MA'N D7 =

Iterable pwiInn NN wnn? 2N list DMan QOIX
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lterator

.0M7¥ 7w N Y TAvY VIYD 1I0N0'R WNn)

77 2'TN' 000K lowerBound [Innn Don [Nina — 1I0V'RN NNLVN
17 DY IN D'71ITAW DMA'RN DX

‘NINAN
K n nino 't 1000'Rnw NI 20! ,0MaR K W vna ox
.DM2'X
7 D'IY IX D'71TAN DMK NI 'Y YT TYD — 207mn 2700
?lowerBound

'NQN [9INQ YIN'Y 12 "WYY 72772 110I0'RN YIN'M NN

int[] arr = {1,4,7,3,6,2};
Iterator<Integer> it = new Mylterator(arr, 2);
while(it.hasNext()){

System.out.println(it.next());

¥

2'aN 7N NO'0NANIN
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public class MyIterator implements Iterator<Integer>{
private int[] arr;
private int lowerBound = 0;
private int currPos = 0;
private int lastValidIndex = -1;

public MyIterator(int[] arr, int lowerBound){
this.arr = arr;
this.lowerBound = lowerBound;
for (int 1 = arr.length-1; i>= 0; 1--){
if (arr[i] >= lowerBound){
this.lastValidIndex = 1i;
break;

h

public boolean hasNext() {return currPos <= lastValidIndex; }

public Integer next() {
while(arr[currPos] < lowerBound){ currPos++; }
return arr[currPos++];

¥ int[] arr = {1,4,7,3,6,2};
} Iterator<Integer> it = new MyIterator(arr, 2);
while(it.hasNext()){

}

System.out.println(it.next());




